
Answer on Question #82842 – Math – Statistics and Probability 

Question 

Pearson's coefficients of skewness for a distribution is 0.4, coefficients of variation is 30%, it's 

mode is 88. Find mean and median. 

Solution 

𝐶𝑣 =
𝜎

𝜇
= 0.3, hence the standard deviation is 𝜎 = 0.3𝜇. 

𝑆𝑘 =
𝜇−𝑀𝑜𝑑

𝜎
, hence 0.4 = (𝜇 − 88)/(0.3𝜇).  

Thus, 0.12𝜇 = 𝜇 − 88,  and 88=0.88𝜇. 

Therefore, we got the mean: 

𝜇 = 100. 

Now, 

𝑆𝑘 =
3(𝜇 − 𝑀𝑒𝑑)

𝜎
 

𝜎 = 0.3𝜇 = 30, so 0.4 ∙
30

3
= 100 − 𝑀𝑒𝑑, so median is equal to 96. 

Answer: 100; 96. 
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